
SAP ABAP table REEXC_CLEARING_PROCEDURE {Clearing Procedure (T041A)}

REEXC_CLEARING_PROCEDURE

MANDT [CLNT (3)]

BSKSO [CHAR (2)]

BSKHA [CHAR (2)]

BSKSS [CHAR (2)]

BSKHS [CHAR (2)]

BSDSO [CHAR (2)]

BSDHA [CHAR (2)]

BSDSS [CHAR (2)]

BSDHS [CHAR (2)]

BSSSO [CHAR (2)]

BSSHA [CHAR (2)]

RPKSO [CHAR (2)]

RPKHA [CHAR (2)]

RPDSO [CHAR (2)]

RPDHA [CHAR (2)]

BLARD [CHAR (2)]

BLARK [CHAR (2)]

BLARS [CHAR (2)]

T000

MANDT [CLNT (3)]

 REEXC_CLEARING_PROCEDURE-MANDT = T000-MANDT 

0..N

1

T003

MANDT [CLNT (3)]

BLART [CHAR (2)]

 REEXC_CLEARING_PROCEDURE-BLARD = T003-BLART 

0..N

1

 REEXC_CLEARING_PROCEDURE-BLARK = T003-BLART 
0..N

1

 REEXC_CLEARING_PROCEDURE-BLARS = T003-BLART 0..N

1

TBSL

MANDT [CLNT (3)]

BSCHL [CHAR (2)]

 REEXC_CLEARING_PROCEDURE-BSDHA = TBSL-BSCHL 

0..N

{0,1}
 REEXC_CLEARING_PROCEDURE-BSDHS = TBSL-BSCHL 

0..N

{0,1}
 REEXC_CLEARING_PROCEDURE-BSDSO = TBSL-BSCHL 

0..N

{0,1}

 REEXC_CLEARING_PROCEDURE-BSDSS = TBSL-BSCHL 

0..N

{0,1}

 REEXC_CLEARING_PROCEDURE-BSKHA = TBSL-BSCHL 

0..N

{0,1}
 REEXC_CLEARING_PROCEDURE-BSKHS = TBSL-BSCHL 

0..N

{0,1}

 REEXC_CLEARING_PROCEDURE-BSKSO = TBSL-BSCHL 

0..N

{0,1}

 REEXC_CLEARING_PROCEDURE-BSKSS = TBSL-BSCHL 
0..N{0,1}

 REEXC_CLEARING_PROCEDURE-BSSHA = TBSL-BSCHL 
0..N{0,1}

 REEXC_CLEARING_PROCEDURE-BSSSO = TBSL-BSCHL 

0..N

{0,1}

 REEXC_CLEARING_PROCEDURE-RPDHA = TBSL-BSCHL 

0..N

{0,1}

 REEXC_CLEARING_PROCEDURE-RPDSO = TBSL-BSCHL 

0..N

{0,1}

 REEXC_CLEARING_PROCEDURE-RPKHA = TBSL-BSCHL 

0..N

{0,1}

 REEXC_CLEARING_PROCEDURE-RPKSO = TBSL-BSCHL 

0..N

{0,1}


